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SOCIAL SCIENCE
a4y - 3%3'0%
quTieh : 80
TteifET % foe | e

GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) vhemefl gdyem 199 T97-U9 T AT Aferid: ford |

Candidates must write first his / her Roll No. on the question paper compulsorily.

(2) Tt I AEE F |

All the questions are compulsory.
(3) T T i ST &I T8 I -frht | & ford |

Write the answer to each question in the given answer-book only.
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2
(4) T w1 W Tt @Ue €, 39 @t o I U 11 g ford |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) THH-UA % Tt T ST T § fohelt Tehr <hi Jfe /3T / faiamymd gF W fe=dt a6
TR i & FRI A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) T HE 3 TAP T I I v1sg Hfimn
1-10 1 20 315G
11-19 2 40 1T
20— 26 4 100 &g
27,29 6 150 31sg

28 7 150 3reg

Q. No. Marks per Question Word limit of Answer

1-10 1 20 words
11-19 2 40 words
20-26 4 100 words
27,29 6 150 words

28 7 150 words

(7) I GEAT 30 HHRH 61 GEiRd g 3 5 3 H1E |

Question No. 30 is related to map-work carrying 5 marks.

(8) T EEAT 24 9 27 T 29 dh T 1A faehed & |

There are internal choices in Question Nos. 24 and 27 to 29.

S-08-Social Science



10.

3

319N <1 TGS JTeRE gUR foTe o~ Hemaqu &

Why Rummandei Inscription of Ashoka is important for us ?

SR T TAR-TR FTE 7

What is the Jantar Mantar of Jaipur ?

srregfres 1 3 R e ¥ 3 w9 T |

Name the two forms of the representative democracy in present-era.

3T o s gl A faaRam |

Write any two benefits of Internet.

TH 3 1 airia S |

Define the National Income.

e | forcfia o <ht 37afer sarsu |

Mention the period of financial year in India.

TTfHeh &3 H S €I TafafeRl afefferd i Sl § ?

Which activities are included in primary sector ?

T ShIHd S 8 R dqeqd 8 7

What is the meaning of General Price Level ?

SUSTH) fordl shgd 8 7

What is unemployment ?

TR T TS HTY ST T TATH el {oha 72T o ?

When was the first effort to measure poverty in India was made ?

S-08-Social Science
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11.

12.

13.

14.

15.

16.

17.

18.

19.

4

Teh ST AN & €Y H 319 I AT & [ hiH-5H H Taaaisti i e
Hd & 7 forgl 2 ol Sooig HIH |

As a conscious citizen, what independences would you expect for the High Court ?
Describe any two. 1+1=2

TR T ? 39 AT vl A ferRge forgeh 31=aiia eient <1 famior femam mam |

What is ‘TANKA’ ? What is the name of scheme under which Tanka construction
were done ? 1%2+%=2

SATIHTRIh HHA 91 @ ? ATk HEA! o hls IR IR ¢ |

What are Commercial Crops ? Write any four examples. 1+%x4=2

¥Tfeereh @IS fohde JehR o Bld @ 7 3eT8Lul dfgd sdrsd |

How many types of metallic minerals are there ? Explain with example. “t+1hn=2

WA H ST TGYT | B a1t s &1 YA STsd |

Write any two impacts of industrial pollution in India. 1+1=2

1 TS G Y 37T A1 T § 7

What do you understand by birth rate and death rate ? 1+1=2

VA H UT39 TS URag shl AT Shifeu |

Explain the pipeline transport in India. 2

e W U Iotd 9T 3179 T —for sral o1 e | Wi 7

What are the things you will keep in mind while walking on the road ? 1+1=2
38 el Yo HRIHH 8 39 I JHEd & 7
What do you understand by solid waste management programme ? 2

S-08-Social Science



20.

21.

22.

23.

24.

25.

26.

27.

5

R gHR e <NEM & T W 3T 8id, df AATHed Raersit o a1 o gfeq = i
AU 3T 7

If you would have been in the place of Hamir Dev Chauhan, what policy you might

have adopted for the rebels of Alauddin Khilji and why ? 2+2=4
HRIHTEA et SIS T Yook ShiTaTT |
Evaluate the central administration of the Mauryan period. 4

32t o TehiehoT | AT & TN T IocT@ hITT |

Mention the role of Mazzini in the unification of Italy. 4

3Th HATJEAR HTHTT Alhaa’ o o7l hIF Tl GRITE ST/awereh & 7 T8 it |

According to your view what conditions are essential for ‘social democracy’ ?
Explain. 4

“Ur 3Tieae Ueh forehrasiiel 3Teieqaeen 2 |7 39 A o 4&T § hig 9N deh THETST |

“Indian economy is a developing economy.” Explain any four arguments in favour
of this statement. 1x4=4

HYGT/OR
AelTeRtoT 8 B 9Tt fereal =R AT sl gHETST |

Explain any four advantages of globalisation.

g1 foh8l Shad & ? g1 o fohegil iF hrl ol T8 I |
What is Money ? Clarify any three functions of Money. 1+3=4

Teh A& TNTHEh o €9 T, ITTEIT I o I TR HROT G |

As a conscious citizen, write any four causes of consumer exploitation. 1x4=4

AT TEH 3TGIe H TATHSH o0 81 I forTereh SMHIe HIateht  ANTGH i HodTehd
i |

Evaluate the contribution of Shyamji Krishna Varma and Vinayak Damodar
Savarkar in the Indian National Movement. 3+3=6

JYC/OR

S-08-Social Science [ Turn over



Frafafga w wferm feofrt foafgu 2+2+2=6
() @ forgrg

(i) SAfAATITAT qHT FATHTS

(iii) ET3HA HHIIE

Write short notes on the following :

(1) Santhal Uprising

(i) Jallianwala Bagh Massacre

(111)) Simon Commission

28. THE % HI TF Wfdkl bl quH HIH |
Describe the functions and powers of the Parliament. 7
JAYET/OR

TyUfd i HrITToTehT e feremft sriean w1 9ol HIf |

Describe the executive and legislative powers of the President.

29. T oy uftyg <t s i faa=mn hifse |

Explain the powers of the State Legislative Council. 6
JYAI/OR

I AATAY o hES Te T shl fee=mT hifse |

Explain the jurisdiction and powers of the High Court.

30. T U wRa & AT | EfaRad i 31t $ifsa -
() @A
@) faeeht
(®) THIH
(8) NG

ISR ERECIEE]

Mark the following in the given outline Map of India : 1x5=5
(a) Khetari

(b) Delhi

(c) Jamshedpur

(d) Paradeep

(e) Hirakud Project

S-08-Social Science
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E 1t 1C 0 Roll No.

S1.No. :

Tear Here

No. of Questions — 30 S-08-Social Science
No. of Printed Pages — 7 + map

qreAtwer e, 2019
SECONDARY EXAMINATION, 2019
IR o=

SOCIAL SCIENCE
T 3Y, "ue

U;UTIE:SO

whignfifai & ferg wwra fdw -

GENERAL INSTRUCTIONS TO THE EXAMINEES :

U9 U hi Wi & oo T2 wre
TEAR HERE TO OPEN THE QUESTION PAPER

1) odieneli FEwem U Y91 U W AW AHaEa: o |

Candidate must write first his / her Roll No. on the question paper

S—08—Social Science 5004 [ Turn Over

compulsorily.
2) A U wH AEE g | |
I
All the questions are compulsory. :
3) e U 1 I & TE SW-Yferen § @ o | I
I
Write the answer to each question in the given answer-book only. (%/ |
I
® |
F |
I
I
I
I
I
|



2
4) R\ Ut ° S @UE §, 39 A % W U @iy g o]

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) uyua o R @ el wuTr | foRet yeRr <t gt / o / ferienyme 3w @ v
U9 i TE AH|

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) U T 3R TS T IW Y vIsg Hm
1-10 1 20 915
11-19 2 40 313
20 -26 4 100 vrsg
27,29 6 150 vreg

28 7 150 915

Q. Nos. Marks per Question Word limit of Answer

1-10 1 20 words
11-19 2 40 words
20 -26 4 100 words
27,29 6 150 words

28 7 150 words

7) O G 30 Ui S 9 Heit g 3 5 SR w g |
Question No. 30 is related to map-work carrying § marks.
8) U w24 9 27 ¥ 29 Ak H 3tiaiehs faeheu |

There are internal choices in Question Nos. 24 and 27 to 29.

S—08—Social Science 5004



1))

2)

3)

4)

)

6)

7)

8)

9)

10)

11)

foF8t St wEeHUEl & AW fefaa e [Va+Ys =1]

Write the names of any two Mahajanpadas.

e — SRS I AT? [1]
What was the Diwan-1-Ariz?

TR o ageraTal Fgr o feregl Q1 aweiehi o T Farsa| [Va+Ys =1]

Write the name of any two supporters of the pluralistic theory of democracy.

G TEILINT URASHT § A A | T TR €7 [Vt =1]

Which states are partner in Tungabhadra multipurpose project?

IeUTEA | T S B9 [1]
What is meant by production?

Teireres & <t foredl g1 wifafaferat o Am foRau) [V2+Y =1]
Name any two activities of tertiary sector.

Hifa rEr @ g v wE FarEu| [1]
State any one function of NITI Aayog.

wi Ui qg whifa foret had €9 [1]
What is demand driven inflation?

TSt < gesk o el @ 22 [1]
What is the implication of the vicious cycle of poverty?

HiG SRS o 39

What is seasonal unemployment? [1]

T TS o JEIHA gH o ATd fIea o 51 o U | 379 %A — 6 § HE w41 ? FiE &
= ferRa) [1+1=2]
As a chiefminister of a state, which functions will you perform in the role of leader
of the legislative assembly. Write any two.

S—08—Social Science 5004 [ Turn Over
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12) ufvend T o fiew Bg | 991 oA o TEH & =18 A ATavashal Hi gid & fore sm fem
e TSIl SRl SUTNT o Tl 3 7 36 STet Tl | aior dveredt shig 91 feroremmd fofam) [ 1+4+%4=2]
Which water source can you use in western Rajasthan to meet the requirement of
water in summer season after drying up of rain water? Write any two characteristics
related to construction of such water source.

13) <Imae Scare % foru qromT uam aut gt savaes qum fefau) [1+1=2]
Write the necessary conditions related to temperature and rainfall for the production
of rice.

14) b=t - [ = g=ht -11 | gafea fifm [Vat+YatYatYs = 2]

T - | = - 11
(FTA & THR) (hTel <Rt AEN)
) fegima ) 35|50%
q) fermmse i) 15&35%
q) dre i)  80® 90%
3) U iv) 75@80%
Match the list - I with list - II

List-1 List - 11
(Types of coal) (Quantity of carbon)
a) Bituminous )  35t050%
b) Lignite i) 15to35%
c) Peat i) 80 to 90%
d) Anthracite iv) 75to 80%

15) @S & qufig Mot 76§ wsferat @l mA | For & ot s im | 3 sur gemn 2 [1+1= 2]

Which two measures will you suggest to save fish in Gomati river near Lucknow?

S—08—Social Science 5004



5
16) TR | wiferent fien @i s 37 % fo1e =eTE s @ e =R A faRem)

[VatVotlatls = 2]
Write any four schemes being run to promote girl education in Rajasthan.

17) 3etie & " & hig uR fag feiRam) [Va+VatVatls = 2]

Write any four points to establish the importance of internet.

18) TR T T ATeTeh g ShiAE! AT sl SHI < ? whig =R fofan)

[Vat+atats = 2]

What precautions should be taken by a driver at the time of driving a vehicle?
Write any four.

19) sl & Rl 3t TRl @ 3g@ Fifu) [1+1= 2]

Mention any two types of sanitation.

20) ‘NHEET UE ‘UTHUEMET © 319 SR THE @ ? T Shifu| [2+2 = 4]
What do you understand by ‘Dhammayatra’ and ‘Dhamm-Mahamatra’?Clarify.

21) UERIUT YaTq <Rl e A o foTu areRsr A SRIT-a—n e 3BT ? [4]
What steps Akbar had taken for the subordinations of Maharana Pratap?

22) I H UFETE % fhgl IR ®ROT @1 3g@ Fhifu| [1+1+1+1 = 4]
Describe any four reasons for the Nationalism in Europe.

23) 3T TAha~ il A%eTal o ford ferm 91 uftfearfomt =t srrarvaes wmd 2 2 feaemn el

[2+2 = 4]
Which two conditions are essential for the success of democracy according to
you. Explain.

S—08—Social Science 5004 [ Turn Over



24)

25)

26)

27)

6
TR TTeHaT <ht ATt steiereaee o U U gl R faeraanstt s aui fifsm|[1x4 = 4]

Describe any four characteristics of Indian Economy as an undeveloped economy.

stgar / OR
I @ gHET fehegl TR Tt <kt THESU) [1x4 = 4]

Explain any four advantages of Swadeshi.

ARG o GEANTA a1 IR — TEARTA Sl § We Fif) [2+2 = 4]

Distinguish between institutional and non-institutional sources of credit.

3Th AR IUNITH H g & F91 & foru fom el ot urem o wifge? [1x4 = 4]

According to you what duties should be followed by a consumer in order to avoid
the loss?

TR | fhET 3ITEIe o 9.1 HIRUT 2 ? TSR & fohegl &t TR STt W Uehon S1fetu)
[242+2 = 6]

What were the causes for the Peasant’s Movements in Rajasthan? Throw light on
any two Peasant’s Movements of Rajasthan.

e / OR
FrfeRea w wfem vttt fafeu) [2+2+2 = 6]
) v ST Ig
i) fgeita stvemE 39
i) e TR
Write short notes on the following.
1)  First Anglo - Maratha War
1) Second Anglo - Maratha War

i) Govind Guru

S—08—Social Science 5004



28)

29)

30)

7
WRA & TLTHE <k 1 UG VhAl 1 9UH hifetd|

Describe the powers and functions of the Prime Minister of India.

[7]

Frerar/OR
TIEHT o 1 TS VTRl Sl AU i | [7]
Describe the powers & functions of the Rajya Sabha.
TIUTA <hl Fr= wiferant <t femerm - [3+3 = 6]
i) wEufeteRt wiferal
i) faemh et
Explain the following powers of the Governor-
1)  Executive powers
i) Legislative powers
Frerar/OR
I AT | et e gt Fi e Rike- [3+3 = 6]
) aEnshe 6 i o e
i) S e f WA & o gaentie gaem
Explain the following points related to the High court-
1)  Appointment and qualifications of the judges
i)  Constitutional arrangements for the independence of the High - court.
o2 ™ ura & wmfes o sifera i - [5x1 = 5]
) A,
§) S HR TR g,
|q)  rm,
3) fufEma
a) T

Mark the following in the given outline map of India
a) Ahmedabad,
b) Dadraand Nagar Haveli,

c) Agra,
d) Sikkimand
e) Delhi

Q000

S—08—Social Science 5004
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No. of Questions—30 S-08-Social Science
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Tear Here

wreatHeR gder, 2020
SECONDARY EXAMINATION, 2020
AT foe

SOCIAL SCIENCE
g : 3y, 9ue

quTieh : 80

giignfeiai & forg wm fdw -
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) ufenel TeEuAH AU T U W AWk SiHarEa: ford |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) uft U w Afar g |
All the questions are compul sory.
3) UEH U H IW & TG It | & ford |

Write the answer to each question in the given answer-book only.
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T U S @ie o foTe T8l Wi

TEAR HERE TO OPEN THE QUESTION PAPER

Tl | ey
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2
4) N 9wt ® e e g, 37 a4t o W s WY @ o)

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) uvAuR o Gt  3Tust U | fohedt TR Rt e / o / forienyme g W R v
T i FE A

If thereisany error / difference/ contradictionin Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) v EE 3R TS T IW Y vIsg Hm
1-10 1 20 9=
11-19 2 40 o1sg
20-26 4 100 vrsg
27,29 6 150 visg
28 7 150 vrsg
Q. Nos. Marks per Question Word limit of Answer
1-10 1 20 words
11-19 2 40 words
20- 26 4 100 words
27,29 6 150 words
28 7 150 words

7) uva EEA 30 uHies s @ Heit g 3R 5 s wm g |
Question No. 30 isrelated to map-work carrying 5 marks.
8) v EEm 249 27 | 29 de | 31 foeheq § |

There are internal choices in Question Nos. 24 and 27 to 29.

S-08-Social Science 5304



1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

HIFE9 T HEATIH i AT? [1]
Who was the founder of the Mourya Dynasty?

RS A TAEA @A T FHT0T SR R ? [1]
Why did Akbar build Ibadat Khana?

T G H TI Alehd=l shel T & ATl ¢ ? [1]
Where is the direct democracy found at present?

T 2011 S FTRIUMT & TR WA 1 TTE A1 TG TTEAT T i g ? [1]
According to the 2011 census, which is the most populated state in the India.

WA H TS AT AT o T2 ATHH ShE T ? [1]
Who was thefirst estimator of national income of India?

ura | foriter o h wwamate e e [1]
What isthe time period of afinancial year in India?

freiem w27 [1]
What isplanning?

o1 ferfa framon &1 g ue Hifgew surm fofem) [1]
Write any one monetary measure to control theinflation.

uRA | T RIS U el wrut feRau) [1]
Write any one economic factor of poverty in India

fotdt = T SRS R 27 [1]
What isthe hidden unemployment?

S-08-Social Science 5304 [ Turn Over



11)

12)

13)

14)

15)

16)

17)

18)

4
MY 37U TS Fi faamas & YA A IEd €, 39 gg i IRIan gkt STavae g,
forReR| [2]

You want to contest the assembly election of your state, what qualifications are
necessary for this, mention.

g TR o g Tierd fehegl o et gttt & T foian) [VatYatYotlfo = 2]
Write the names of any four water projects run by the Central Government.

ST FHe o1 2 7 Thig g1 ST Foet o AW feifan) [1+Vot+Ys = 2]

What are commercial crops? Write the names of any two commercial cropsin
India.

efeieh WS o 8 7 Wi OTg Wil o hig g 3aTgdut ¢ [1+Vot+Ys = 2]
What ismetallic mineral ? Write any two examples of ferrous metal minerals.

‘O W Tl a%T 3T Tehe ® §| Uel § i 91 SR wee Fifm) [1+1 = 2]
“Cotton textileindustry in Indiaisin Trouble”. Specify any two reasonsin favour.
TeEE e Hifta 2000 i Gigra ® e S| [2]

Describe the National Population Policy of year 2000 in short?

@it aqye HeRemT @t sTE S| [2]
Explain the Golden Quadrilateral Super Highway.

S eIl i THAUTM g hig 9N U™ G130 [Vt Yot Yot = 2]
Give any four suggestions to prevent road accidents.

S-08-Social Science 5304



19)

20)

21)

22)

23)

24)

25)

5
s WA Fvm & uwiur gt Rt ger W@ ) ua § @i 3 s sanga| [2]

“Swachh Bharat Mission is improving the condition of rural areas’. Explain any
two reasons in favour.

TR i i3 AR ATHg AR SUATSET [TRaT| [1x4 = 4]

Write down any four famous cultural achievements of Gupta period.

&R AR | fora ot & foo afeg 22 [1x4 = 4]
For which victoriesis Babar famousin India?

STHT % TEhIeRTUT | T STeTd shiq—<hid §t ot ? fohedl TR @ Seora dhifs) [1x4 = 4]
What were the major obstaclesin the unification of Germany? Mention any four.

“FIha= U 9IS WA Tl | 39 HoHA o Ul § 319 cAieha—= & fohegl S1 Uit o1 9uH
Hifm [2+2 = 4]

‘Democracy isthe best governing system’. Describe any two merits of democracy
in favour of the statement.

TR sreferaen fi fammsiicrar @ oA arett g =R favrwaen @ quia Sk [1x4 = 4]

Describe any four characteristics of Indian economy as a devel oping economy.
et/ OR

WA JreeTawel § Y Ui i 98y | 9ui it [4]

Briefly describe the economic reformsin Indian economy.

=g Ferfrer womret =6t TR [4]
Explain the barter system.

S-08-Social Science 5304 [ Turn Over
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26) 3MYh AHTAR IUMITH & &Y | AUkt -+ ¥ faferr siftrrr wra §2 i wr &1 Seora

27)

28)

Hit|

[1x4 = 4]

According to you, what legal rights do you have as a consumer? Describe any

four.

e foram stied W ues fer feifam)

Write an essay on Sikar Peasant M ovement.
gar/OR

Fraferiaa @ @ el @R W vt forfe

) w fagr

i) e foge

jii)  veTST T T

iv) orarr R ST

Write a brief note on any three of thefollowing :

I)  Sanyas Rebellion

i)  Bhil Rebellion

i) Shyamji KrishnaVarma

Iv) Champaran Peasant Movement

WRA % Teeuld i e viferat o1 quia hie -

3)  HEUTCAHRT AT TR Ikt

q) faurh wimat

Describe the following powers of the President of India -

ad Executiveor Administrative powers
b) Legidativepowers
Frgar/OR

S-08-Social Science 5304
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[2+2+2 = 6]

[7]



.
WRA & Haed e i e wiferat v et @ aui Sk -

) URMIE SRR

) e SRR

Describe the following powers and functions of the Supreme Court of India-
a  Origina Jurisdiction

b) Appelatedurisdiction

29) TS wiUNEg i VITckl U it i faaaqT it | [6]
Explain the powers and functions of the State Council of Ministers.
Fgar/OR
g fem-—uiteg o en it forea feeemn ik
Explain the Formation of the State L egidlative-Council.

30) f&a T wra & W uEka U FafeRaa @t sifera Hifw [5%1 = 5]
)  EOHUS gRASE
q)  HUE FEA &
q) dwr
g) T
) et
Mark thefollowing inthe given outline map of India:
a Hirakund Project
b) Cotton cropped area
c) Bokaro
d) Visakhapatnam
e) Tuticorin

¢ ¢ 0
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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) henefl wewem S W OF T AN st fo)
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) A g w St

i [sory.
All the questions are complizoi.
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T
(% Social Nelence {__fi“_':‘_‘ | Turn Over
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WUE ~ H
SECTION - A

FgforRed T ;

Multiple choice :

) e v & aw o wd fees wm F I g | foi)
Select the correct answer of following questions and write in the answer book.

) i fRw T W Eaw | g ot ?

[1]
) w) fem ) wE
|) WA 3) W
Which Nation did Germania became the allegory?
A) Britain B) France
C) Germany D) Russia
i T gd 1 forwt A= | | femea i 22 (1]
T w) e e 1) =Eh
|)  wifd 3) TH TR G H gEIE
Which of the following symbolizes the rays of the rising Sun?
A) BeingFreed B) Heroism
C) Peace D) Beginning of a new era
/il} = 1 A ol wiRea = Ataet AR WqH foan (1]
) drdl A q) H.oR. [y
q) "R 3) mEaw
Who among the following was awarded the Nobel Prize tor Literature?
A) C.V.Raman B) V.S.Naipaul
C) Mother Teresa D) AmartyaSen
S-08-Social Science [ Turn Over
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W) ‘o T 2 (1]
: R) EARGE H a) anfureas &9
§) o Fw 3) A e wf

What is “Jhum Cultivation”?
A) Shifting Cultivation
() Plantation Cultivation

B) Commercial Cultivation

D) Intensive Subsistence Cultivation

\) R e @iy fae AR R T [
H) wEESR q)
q) A 3) TeEd
Over which river has the Sardar Sarovar Dam been built?
A) Mahanadi B) Ganga
C) Narmada D) Godavari
vi) T wE W g g? [1]
S N -t [) W - wEw
@) R - T 3) W@ - wE
The Rabi Crop pair is - :
A) Wheat - Barley B) Wheat - Rice
C) Jowar-Bajra D) Mustard - Cotton
vi) Afcwaa MaREER T AR E - [1]
H)  wrer q) Fwmw
W) IR 3) e
The name of the capital of Belgium is .
A) Colombo B) Bangkok
C) Namur D) Brussels
iy i e v ST Wt 1 e o e 6 0
h 3) =amn a) &fe wery
) o 3)  FHR WA
Which of the following subject s not inany list of power distribution in constitution”

A) Trade B)
C) [Lducation

Foreign relation

D) Computer soltware

S-08-Social Science 6004
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x) m&m(BAMCEF)ﬁmwmé- (1]
A) THNH K 7) Raia
q) wH eiEa 7) wog |
BAMCEF organisation is related to -
A) Politicians B) Farmers
C)  Government employees D) Workers
X T e R @ areh e & - (1)
¥) wgw e e s 7) fvads
q) fed &= 7) Hifd amam

Human Development report is published by -
A)  United Nations Development Programme B) World Bank

C) ReserveBank D) NitiAayog
) fifrae 8 & wiafi s 2 - 1
N) IEm ‘ a) afEm
W) warRwa ) WUSRY RAN
Occupation related to secondary sector is -
A) Industries B) Banking
C) Communication services D) Storage services
i) firm § Fran 2w g fafmior 3 1 o @ - 1]
H) TAOE a) <=
W) sefern 3)  swmfe
Which of the following countries iy anexample of a cheap manufacturing hub?
A) England 3) China
C) Australia D) America

S—08-Social Science [ Turn Over
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2y A o e -
Fill in the blanks - ‘
A e g R gt e )y e Frrer gy e 211

if)

i)

/

; . : : i ¢ called
Companies, that do business in several countries at the same time ar
corporations.

Sevizer & wr e e e weena el (1]

The resources, obtained from biosphere and which have life, are knownas

e 35 o e smeen 36 3R Y QAR s all]

A person who does not discriminate others on the basis of religious beliefs, is known

as .
frdt 2w Y g 3T W & |l F1 7 B (1]
Income of any country is the income of all the of that country.
FHa® G A g @ 2 1]
Tertiary sector is also called as

neﬁamﬁﬁ%ﬁmﬁu&mﬁa@ﬁaméi [1]
Rapid improvement in has stimulated the globalisation process.

eI (T % I TE W q U Ui A Sia) ¢

',-"' Very short (Write the answer of the question in one word or one line) :

) Tt S afmT S S W T T2 (1]

' Why statues of Marianne were erected in public squares?

5 Readrd Y 1890 % Twe § 90 whiv wafir @t i 6t g gen fare 1]
Which disease killed 90 percent of cattle in the 1890s?

2 327 T=a e fea 2w 1 g R @ [1]
In which country was the Bretton woods conference held?

IQ A R W 2R At 2 aEa & T S| [4+Yi=1]

Write names of two things that are obtained from forest.

S—08-Social Science
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V) rAC ) %?
‘ What is a“Tanka™?

[1]

vi) mﬁmﬁaﬁmag@ﬁmmﬁf%mml [+Y4=1]
‘ Write names of two major fibre crops grown in India.
vy st v 1 Il
When did Sri L.anka emerge as an independent country?
vii) W wfe d R & sreman et i @ omglE W w gt Rm e (1]

How many languages are recognised as scheduled languages by the Indian
constitution besides Hindi? https://www.rajasthanboard.com

i) ot AR & oo g1 % w9 H T w1 i o seE ARl 1}
Give any one example of the transformation of the movement into a political party.

y et R @ 3w w2 1)
What do you understand by sustainable development?

) ITdh HTER WA A i ot wgl Pt 2 (]
According to you where are most people of India employed?

xi)  Yraah w F A w22 < 1]

) r

What does Ranbaxy company produce?

Tug - ¥
SECTION - B

TR T - S E. 048 16 % I e (v wfen 50 vreg) :

Short Answer Questions - Write the answer of the question Serial No. 04 to 16

(Words limitation of 50 words) :

4 wéaeFn 2|

Whatis conservatism?

5y e Frdt & frem frm e R & e 3 T4 42 21

, M . . . .
FFor what reasons the peasants of the Kheda district were not in position to pay the revenue?

S—08-Social Science [ Turn Over
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6y ST Y w27 2]

¥

What is Tariff ?

TR R0 T W ) Wl § ww 121

Explain in brief the ‘Forest Conservation by Community’.

8) WA % T - e vt ¥ T § o snoa v 6 W QREiel 1 e AR w6
C R e fE-fm el w om i 2]
As the Water - Resource Minister of India, if you were asked to draft a river valley project,
what points would you take into account?
9) WS Ft A = S 2]
“  Discuss organic agriculture.
10) &1 & wrEert # o= w@ agem R s 96y § e S| 2]
Explain in brief the ‘system of check and balance’ in power sharing.
1)) wdte sgawen @ FYE 9 a9 we ffke) 12]
Explain any two features of federal system.
12) mm@nﬁ%ﬁu%%ﬁwﬁnmm%ﬁawgﬁwmﬁ? HITE0T a9zmea)
' 12]
According to your view what is the difference between sectional interest groups and public
interest groups? Explain by example.
13) R FetEwim mym A 9 @ gam 7 21
‘ What do you understand by non renewable resources?
Wmﬁmﬁaﬁaﬂiarﬁ%ﬁkﬁ%mw[ 2

Give any two examples of Primary Sector Acgviny,

5-08-Social Science
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15) @4 TEad WY & i o i) 2]
Write any two benefits of sel{ help group.

16) TEOA FEAET FH T FAl & 7 TG

How do multinational companies work? Explain.

2]

T® - |

e ——

SECTION - C

& 90 U9 - W 17 R/ 20 F I Ry (wrsz 100 w1sq) :

Long answer type questions - Write the answers of the question 17 to 20
(Word limitation 100 words) :

17) =< T % SER U2 &3 37
What is a nation according to Ernest Renan?

Fga/OR
IENETE! Tegang i favreamd fafkaa)

Write the features of liberal nationalism.

[3]

131

18y W & HIUR W GEEET o1 aitenon wifm)
Classify the resources on the basis of exhaustibility.
Far/OR
e e R FR §7 3 R0 @ e % 3um fafa) [1+1+1=3]

What is soil-erosion? Write the reasons of soil-erosion and methods of soil-conservation

[1%2+1'4=3]

19) mﬁmﬁm&mﬁmwl

[3]
‘ Explain the three determinants of social divisions.
Fua/OR
*mﬁmﬁaﬂmﬁrmﬁ’aﬁmmﬁm -
Explain “the origins of social differences’.
$_08-Social Science 6004 Torn O
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20) FH B AR F-W W GRE re iy 57 Rl o ecrE R E]

What facilities do you get from banks? Mention any three.

Faar/OR

tﬁﬁﬂﬁ%@@“ﬁﬂ%%hgﬁﬂﬁﬂm%rﬂ 39 2@ FUA W TEHA 87
g wa < RE Hifvm 3]
“Banks use a large part of their deposits for giving loans.” Do you agree with this statement?
Explain your views.

g - §
SECTION - D

frarsreTe 99 - w9 21 &/ 22 % I forRed (vreg €W 250 71sg)
Essay type questions - Write the answer of question 21 to 22 (Word limitation 250 words) :

A1) HEEA TR & S Tigdl & TfafaiiEt JuA &gl 4]
Describe the activities of the cities during Non-Cooperation Movement.
‘ Fyar/OR
TETe W A JrEgvad w1 I9EH S % forg war-Ta e fE? [4]

What did Mahatma Gandhi do to abolish untouchability?

22) i T ¥ R wrda dfaam § w aeam R m 32 S an S e fik
[4]

What provisions are made in the Indian Constitution for Secular Governance? Discuss any

four.
srerar/OR
mﬁnﬁwaﬁﬁﬁiﬁmﬁmgﬁﬁﬂwﬁﬁﬁﬁlﬁ?aﬁéwmmﬁﬁm 4]

Why is the position of women still far behind of men in India? Explain any four reasons.

§-{)8-Social Science
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23) W T IW @ ™ vt A e -

Write the answer in the given map :-

£ T a3 T AR | fefatea s osifea Sifig - [1+1+1+1=4]
H) A
) ™
|
3) e
Mark the following in the given outline map of India -
A)  Ajmer
B) Gava
C) Durg
D) Nellore
Fua/OR
Frd ) st 3 v W Freafertia @ s S - [1+1+1+1=4)
;) T
q) [EavEl
|q) A
2) Hhodand
Mark the following in the given outline map of India -
A) Naraura
B) Rawatbhata
C) Tarapur
D) Kalpakkam

F F
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2

IRA § TR 3IRH TS T AT & 2 1
IR &% FT & S=OTE ¥ I o T AR har § 2 %+%=1
ST % MY Ak W, BN T - AHA & 2 %+%=1
0T FI T I a2 | 1
S I o 2 2
Tl ¥Ieet o 9N H S 1 S § 2 2
FIER 1887 % A VTR & T ST IUF € ? 2
TR STATE & o@eh i & 2 THY AN I AT a1 TH I g3 2
1+1=2
STENTIERROT & ohel SIATEl & W T &l Ao Sohed = 379 ST <l o]
o 2 2
TEHE= OTH0T Tgeh T SIS & aR) § 3717 7 qHed & 2 2
R % & TR HY € 2 1+1=2
T dh 5ol & o1 &Y g &1 5 | 1+1=2
TG AT 3T FH G § FY ThR 09 § ? 2
YRT H IUHRHT To9 Ha Td T T SO § 2 1+2=3
Tl o IR H T T THA € 2 3
T i T GIRT S o o1d 3TF A G | 3
19 o TS & IR STUEH i TohAlh H G IR §U ? Hig ol BRI
e H Y | 1+1+1=3
“TRIETT 6’ AT ST W e JATST hi T T IA € 2 3
T U9 FECT I A IR T IR ITH F Ad GAT ik TR T BT
FEROT &1 T | 3
TS TE N E ? TS TR0 S I | 2+1=3
TSI e Te1 STHT T TH10T il A © 2 3
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22.

23.

24.

25.

26.

27.

28.

29.

30.

3

TS0 § 3T FAT T & 2 30 RN H L B | 3

SYHRRT T TN A et BIAG HRE € 7 Feal o bl =l Bl S |
1+1+1=3

TAAGT W WO AT 2+2=4

F) AT I

T)  oHeR 39 TR |

‘RA § R Sl B G T Iad &1 Fl 2 AT 7 WL Rl 5 | 4

‘IR § THET SN oSl ¥ g6 9d & @l ¢’ 39 $YT W A0 guR Fh
FIT| 4

3T AThA= 1 3T IEA FILIe  dgal A €, 1 2 TE 5 |

1+1+1+1=4

37
ArhTf=Teh el st T off 3t 9Id I T FHIAT BT &1 T Il B WL
I | 2+2=4
AR Sl Y TR IS Ak IR T GURT ST Gehell & ? 4
FOT G Y T G & 2 URA H WU UG FAM a6l @il W
< | 1+3=4
3T
TF AT H RISl o TR i T 5 | 4
IR & AA S H T4 o @d i I
(i) I 3TYH Wi & TE . AfAd ht o1 | 1+1=2
(i) S STORIE &aTE 3T I dfeId i ST | 1+1=2
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gRReIfem g a1? (1+1=2)
IRA ¥ MYFIH SUMNI & M 9 d@di & A Id1gd | 2)
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T & FAT Y BT U DIfTY |

RISHIRTS S @1 aRETg & AR d FIT M &7

IS HHT T Q2 H 9% 31 9 Ugel o a1ai & & ¥ @l 87

IUITHIT 2NYOT & PIg I YhR g8y |

EB AN fharal B GAudT Bl bR i = o7

oIl B GREUT B AGIThdl Ud ITP U0 B SUR ey |

SENT ERT TR f=droT BT HH d & folv ISR T SUT foTRau |

Ahda T 27 RIerIdl Bl oidhd= Pl Aheldl BT JATOT fhd YR HHT ST &7

T PIFTY |

JrqT

Arpaa fa Rerfoat & amfore fafaear & Tumerdar 8 iR S99 9 Iy dardr 87

IRA H AMhad & TR BII—dbI A GAIfadr 2° A |

TR &F H IRIG URART B AT § SR IRARI & AaaRe Foll o1 231 1fda
FT BIAT 8?7 W BIFY |

JrqT

T gRAR SuaRe &3l @ o # FaRa &3 | s arg &ar ofd 22
W BIFY |

IR & AFE H§ qeNsgy:

(1) <1 arad SdTed & Bl qEY |

(2) O SMUIfd® Sl deal Bl T |
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(1) TRIETe Wemed 270 Ue--93 I i e fog |

(2) Gt U R A E |

(3) VTS YUY I IR I TS SU-YRaashT § &l ford |

(4) 159 U9 § e @Us €, 39 947 & 3T U 919 & o |
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1. ‘TS Gt o oi@e ol A Jded | 1
2. TSN H FRl B @A i % o UEE © 2 1
3. IRAH 5 AR A 3T I A1 DI TR BT § 2 1
4. T HEEAT A9 H SO SR 0T AT W B [ o € 2 1
5. YRA H 98t Tt el F o S 2 1+1=2
6. T R o Iagar & & 2 39 IR S T F 88 2 1+1=2
7. U TFAGT % GRT oEh F FAT TAH H1 TANT AT & 92 2
8. S H HMH-H |l aqE I S & 2 T 2
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13.

14.

15.

16.

TR % W Qreqt o 919 fofed |

Jurer st Tt gt wiedt 7 T 2006 | SR F AT F DA G A THATE 2 HiE 3 At |

TRA o bl IR T’ (§1) ST et o 1 fef@d |

SRUT 3T YR & &1 e aczd |

fordia efioeniier e S € 2

o

T 3 AT T oo hifoTd T UTT: THAIR ST T INH0T S & |

AR Bl AH I T 6 e o6 T8 3 fearad |

SRR U TS 3 o1 g7 ? SHe hie &1 Wae™ s |
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17. 91 HY i g7 foRivand saes |

[a¥aY

18. TETE TR U ISTHITAE S H T 3R € 2 WL it |

19. ciiha= hd TE SRR, SRR 31T oY GLh o1 e &hedT & 2 foeremr shifsa |

20. WhdA T SIS Iol i T JHehret & hig diF g foawg fafe |

21. cArehdi=ieh THRT H Bt i H 3T THT 41 el & 2 WL Hifsrd |

22. Tove UK e 9T e feuof fefed |

23. U &F & IR H TH G STHERT o &9 H 3797 THoied] ol 0 it |

24, FTOIUE H HREM F 35T FHa g1l 7 THY STRA i UHAT H T IR gU 2 T Hifsr |
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25. IUAME H TEHTA SRR ThR o YRA™T 3 304-3109 @1 9 {61 | 39 e &l foaemr

W | 2+2=4

26. YRA H HIX Fo1l 1 i 3556l 41 & 2 T ity | 4

27. SRR HEHET G T T T € 2 IR H TG HHAT St T S T FHif |

AT

TR T 37 AT gU TH TR S TS A HRT i foe== T St | 4

28. 3T YR | fafqaior =T 6 Il Hewaqol T ¢ 2 foar=mT it |

AYAT

3Tk FATER S § S-9500T hd &Il & 2 T i | 4

29. A H STNT-3TeRT IRE i GAITTA [Oem= &, 379 9 =l ar ot fag=mr S |

SC])

TR % faedR % HRUT gHh! TAURAIT - W fohd STt st STET ST =1fedt 2 Tl o ol

T oA HiTT | 4
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(37) I AT 3R T WA |

@) i TR &aE o |
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